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Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10
wero e FotrEE ed s

(a) Why do countries engage in international
trade?
crPTR SEsAEE JfTEre o w@ide 21 7

(p) Who said that, “International trade is
but a special case of inter-local or inter-
regional trade”?

“orREaER I (20 AR A1 AR
e O Re™ 117 G SR @I iRE 7
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(2) -- (3)

(c) What key assumption does the () Give any one argument in favour of
Ricardian model make about labour ‘ fixed foreign exchange rate.
as a factor of production? 33 (arrfie R 293 ST 961 3 fran |
PR o SR TR
TSR &5 2 SR EN () State one objective of international
macroeconomic policy.
(d) What is factor endowment? yREAEy TEh wdhfes b Tmen Te
TAAT 2fpRel 5 2 I
(¢) The demand for foreign exchange in a
country arises from import/export of 2. Answer the following questions : 2ol
goods. : ICEICR LI R HEPES Taq fors
( Choose the correct answer )
@ @S R TN vy (a) What does the factor immobility refer in
& /e ng' regards to international trade?
SRR AT PTFe TomER deramerR
( % TeIcor A Sferea )
@A ?
What is protection; :
{f) ; ectionism? (b) What is Leontief paradox?
SN % 9 <
p ferafoera M=ot 42

(g) State any one cause of fluctuation in -

foreign exchange rate. (c) Write two features of Gold Standard.
9 o1 CafEr fordt |
caeitie R 299 o1Rae e R e o5 | TR TS Tl
L G : (d) Write two arguments in favour of free
‘(h) In which year was the Bretton Wobts trade. _
system established? T@ e Two 761 & S15=eeHT |

571 TR 29 o e aifody w1 2l 2
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(4) (5)

(e} erte two causes Of t}le GlOba.]. FlnanCIE_l (e) Expla_ln the different Stages of the
Crisis, 2008. product cycle theory of international
yo0t Toa R 8 K09 101 PR o | trade.

HRAEE JIE Sim 5% wao ffew
oRITETR 0T 4T |

3. Answer any four of the following questions :

Sx4=20 () What is financial globalization? Discuss

e 2PCARA R Il SRR Tl fora its benefits and risks. 1+4=5

(a) State the importance of International e e 2 W Ra we R
Economics as a branch of Economics. SceTbAlRal
ERicianc it g :

= 41 f2oree srReigE weAife 4. Answer any four of the following questions :
bt 10x4=40

(b) What is tariff? Explain the different O 2GR 7 G BB T s : '

f tariff. = e :
types of tariff 1+4=5 (a) Explain Ricardian theory of comparative
5% 52 % R eroronz 401 <491 | cost advantage.

(c) What will happen to the Heckscher- SRl Wiﬁm GCOT M
Ohlin theorem if factm: intensity () Explain the Heckscher-Ohlin theorem
reversal takes place? Explain. _ . of international trade through price
I TS Glger 2SR o, (o ER-S R criterion.

OGO 6 27 2 7 4 | @R-S o SRR T Sghl 3

(d) Describe five differences between w49 (price criterion) AT AT 41 |

international and internal trade. : (c) Discuss the technological gap model of
SRALH W Sy AfdeT o8 =l international trade.
asal wEAgy AR dffefm F wE
| ST <41 |
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(@)

(e)

(g)

A25/571

(6)

Distinguish between fixed and flexible
exchange rates. Explain how the
equilibrium rate of exchange is
determined wunder flexible exchange
rate system. 4+6=10

f&r o WA Rfww 799 Som e Ry

391 | Taw R 29 wwe @ eie s
e 11 =1, w40

Analyze the effects of an import tariff
under partial equilibrium analysis.
AT ST RS A WEE S|
Reeme w4 |

Explain the rationale of a protectionist
commercial policy in developing
countries.

S (PPRRe IwRm Al Afes
FFETZ A 54 |

Explain the European Monetary System
and its role in stabilizing exchange rate.
How did it lead to the creation of
the Euro? Evaluate its success and
challenges. 2+3+2+3=10

AN T AR oo T GE 3 G
RFE 29 i e e <Rfw =R
THHA N @ 7 cafee 2 ? % TSl
IE AOTRIPR JemReT <04 |

( Continued )

(7)

(h) State the main features of multinational
enterprises. Explain the role of multi-
national enterprises in international
trade. 5+5=10

o dfSPrrezd ¥4 @REPTR T 7901
wIReAE qidere wEfee Afoprrzs ST

QAT 4T
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